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- AR MIWNR PROZIM PRIV IR
Since marriage removes her from the father’s domain

Overview!

"R explained to X127 that we cannot compare 1°017°X to X1 (regarding 01p) for we
compare X1 to M33,2 since both by M2 and X271 they are 28 MwAn 1RXIA (as
opposed to 1°017°X). Our MooIN discusses the source that PRIW 1 are IR MWIA TRIXIA.

- 595943 NI9NI 4999957 30903Pa Y’
'@ explained that we derive that 2&% MW n PXX 1X1W°1 from the laws governing
the annulment of vows —

mooIn anticipates a difficulty with >"w"s:
= 7932959 XD N9YDINN SNIIINT 1D NPT 2) DY 9N)

And even though we have established that we do not derive laws regarding

monetary matters from laws regarding prohibitions, so how can we derive that PR
AR Mwn XYM regarding 1n from 0°71 197 which is MOR? —

mooIN responds:
= NYOINMI N3N 192992 XYT NIN AR MWL NNPIND Y991 9N

These words (33°57° X% X110°R R11Mn) apply in a case where we want to establish the
money in the father’s possession (by taking it away from the daughter), we

therefore claim that one cannot derive XM99R? X1 -
= 7aN MY ANININY ¥ NUIN XI2DAT D97 NIONN VY ])’97’ AN MV "mﬁNb San

However to remove her from the father’s m29, we indeed can derive this from
%71 n9e, for with even a minimal reasoning we can remove her from her

!'See ‘Overview’ to the previous 82 71"7 ‘0.
2 If the 71w became a n1M2 before the 01p was levied, the 01p belongs to her, not to her father.
3w "7,
4 In our >"wA it does not say "102°7' (that we derive), but rather "1nawx7>' (as we find).
3 A father can annul the vows of his daughter as long as she is a 77¥1 (or younger), until PXW1. At that point (even if
she is still a m1vpR), only the husband can be 7°51 her 0771 and the father has no say in the matter.
® We are attempting to prove that the woman receives the 03 money if she was nxwa after the 011X, and before the
172 779y, This is a monetary issue. The case of 0371 n797 is not a monetary ruling rather it is pertaining to 0371
which are MoK (prohibitions), and we cannot derive R0°RM K17,
7 This is referring to the X3 later on 2,» where the X723 states that we cannot derive that the handiwork (77 awyn) of
a w1 belongs to her father, from 2°171 n7977 (see footnote # 5), since 71°92° X2 RMO°RN X1Mn. See also 2,3 PLITP.
8 See previous footnote # 7, where we attempted to derive that the 7°7> 7wyn of a 7v1 belongs to the father.
9 Logic dictates that the o>7> 7wvn of anyone should belong to them, not to someone else (even a father).
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father’s N1 and give her the right to the money —

An alternate explanation:
- 108491 19 5957 11%5 Y99 DNH9AN 13249 13 PNYY 1))

And the R''2%%9 explained that since the »°2 revealed to us -
= 11D19RY 1971 NIN 1YW NINMI RNDIN AN MY NNPINDT

That 999°% and %% are equal regarding placing the 77v1 in the domain of the

father, similarly regarding removing her from the domain of the father, the rules are the
same for 1» and MOR —

mooin offers an alternate interpretation:
= AN Y9 PRI PRIYIIT WIDND PNYS 12939399]

And the "1 explains that the meaning of 2R N7 PRI PRI refers to that -
= BmYyY 1793 POV PPN NYN 1D POID YWIN BINTIN AN MR WIN 1PYITTN

Which we expound on the P09 of X930 1928Y 12X wOR (a man should fear his
mother and father) to mean a man has the opportunity, etc. a woman, however
does not have the opportunity to do this mxn —

mooIn rejects the >"1o:
:[N99N 19 15HPaY 19N N NYYNT NN NDY

And this interpretation is not acceptable, for n'';m the 77157> mwyn of a wife do not
belong to her husband (it is only a 251 nipn).

Summary

10 See later 2,2 that we derive that 777> nwyn of a 77w belongs to her father from the P10d (7,80 [@Wwown] Nww) of >
JPR? 102 DR WOR 01, we expound it to compare N2 to X; that just as an 7aR her 770 TwYn belong to the master,
similarly the 7>7 fqwyn of [[7v1] 102 belong to the father, w"y.
' Once we say that 10°x (2°71 n1977) and 177 (777> AwYn) of a 771 are the same; both are ax MwA3, we can therefore
assume that the same applies to leaving 287 nw", that if regarding M0k she leaves 2x&7 mw (like by 1Xw»1 [where he
can no longer be 7°o» her o°171]), the same will apply to 1»n (that the 01p will belong to her after 1Rw»3).
12 The following is an addendum from 2°1w> MpOIN (see marginal note).
B30 (@w11p) R
14 A married woman cannot carry out the obligation of 71293 and X711 of X1 28, because she is under the domain of her
husband. She is 723w to him. We see that 1% takes her away ARk nwan and places her Hv277 nwaa regarding 1mn.
She is required to do work for her husband and her 77 fwyn belong to her husband. The expression "X X% 1R
AR M@ (has nothing to do with 0°7171 n197 (which is MOX), but rather it) refers to the monetary obligation of the
77 nwyn of a wife to her husband, which is 1nn.
15 The Pxw»1 do not remove her from her father regarding money matters (7°7 7wyn); they may indeed still belong to
her father (n"nn) even after PR 1! It is (merely) a o°non nipn that the 77 7wyn of a wife belongs to her husband, since
he is obligated to feed and clothe her. The reason why nWwv? 737°2 p9°0 X (is not because of 77 nwyn, but rather)
because she needs to be by her husband, not by her father (but it is not a 17 issue).
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We can derive X110°%» X1mn when it is logical,'® when the P05 compares them.!’
[Alternately a8 nwan 7R PRIV may be referring to 7°7° qwyn. ]

Thinking it over
Is X71m1 M12°3 of one’s parents a monetary obligation or is it more of a personal nature.
Could this be the difference between the *"1 and the '®7°71 R?'?

16 See footnote # 9.
17 See footnote # 11.
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